‘Algebra 1: ypji 5 Notes
Lesson 4: Arithmetic Sequences

Part 1: Pattern :
: S: Revisi : :
8,5 ISit Warm-up: What patterns did we see.. ONA A,
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Give Examples:
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Given the rule, write the first three térnzs of each sequence. Assume that the domain of the function is the

set of consecutive integers starting with 1,
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What about this sequence: 1,4, 7, 10, ...
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What is the 3" term of the sequence? What is the 10* term of the sequence? 7/%

What is the 100*" term of the sequence? (YIKES! I) Any ideas for finding the 100" term??
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Arithmetic Sequence:

Term (a; and an):

A pattern of terms that by the same
NoN\YexO number d: ., called the
Oneis
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:ﬁ{ggé& L_O a number (the number can be
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How many eyebrow hairs will Irving lose on
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Common difference:
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d= difference eluseen fevms
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Now can you find the 100" term from the

Explicit rule:

Ol = A, = (_}/) -'I>GL

sequence SN

Recursive rule:

,G\ ~(n-1)d
5 ‘% 0. = [+(o-N3
d, " o1 W3

1\ =100
= |%29%
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Part 3 Patterns and Sequences Examples

1. Givgn the table Rt
¢
==, |2 |3 (4 | &

a |4 |0 |4 |8

a. What is the common difference?

A4

b.. Write the explicit rule:

Q“ Q-+ (n-1 )- &

@%‘ﬂa Y +4n-H
(1 = 4n-%

c. Write the recursive rule:

2. Given the table
[ nJ2 |3 |4 |5
2| an |2 {76 410414
WWhat fs the cc common difference?

b. Write the explicit rulé:
Ap=0,+ (n-1)4
{ 0y

—

c. Write the recursive rule:

d. Find the 24th term

d. Find the 8" term.

a z —%(8"’) /ﬂg’Z"f (L= 2F [24 I [Z;q
-+ (207 =2+ (23X
f’t'/"l'zy - 2"4}
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3. Consider the sequence-5,-2, 1,4, .. 4. Consider the sequenc¢ -1/-4, 7,10, ...
- ?\/ (% v V

a. Whatis the commo’n difference?
A3
b. Write the explicit rule:
aﬂ; Q, + (”'])04/
l ﬂn =~5H+ (ﬂ'/)Sl"r -5t 5n-3

c. Write the recursive rule:

d. Find therm.

a. Whatis the common difference?
ds 3
b. Write the explicit ryle:
o Gé

/AL
=" - '-3 or
[ Ay |+ (n-1) j .

c. Write the recursive rule’

»
d. Find tterm. '

3 n=1 1=35
L ﬂqC-’S'f'(Q")g 0h=’1+(n—l)—3
> =5+(8)3 035 =]+ (35-1)-3
> -5+24
Gy =% =4+ (34)73
ﬂqslc) =)= (D2 Lﬂ35=—/03\)
Ticket out the door:

3

Create your own arithmetic sequence. What makes it an arithmetic sequence?
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